
ΘΕΜΑ 3ο  
α. ● 0 ≤ ℓn(x - 1) < ℓn3  ⇔  ℓn1 ≤ ℓn(x - 1) < ℓn3    

και επειδή η συνάρτηση  g,  με  g (x) = ℓnx  είναι γνησίως αύξουσα 
1 ≤ x - 1 < 3  ⇔  2 ≤ x < 4,  άρα  Α = {2 , 3} 

 ● (x2 - 5x).(x - 1) = -6.(x - 1)  ⇔  (x2 - 5x).(x - 1) + 6.(x - 1) = 0  ⇔  
(x - 1).(x2 - 5x + 6) = 0  ⇔  x - 1 = 0  ή  x2 - 5x + 6 = 0  ⇔   
x = 1  ή  x = 2  ή  x = 3,  άρα  Β = {1 , 2 , 3} 

      Είναι  Α ⊆ Β  άρα  Α - Β = ∅  και  Ρ (Α - Β) = 0 
      Είναι  Α΄ = {1 , 4 , 5}  άρα  Β ∪ Α΄  = Ω  και  Ρ (Β ∪ Α΄) = 1 
β. Είναι  Α΄ = {1 , 4 , 5},  Β΄ = {4 , 5},  άρα  Α΄ ∪ Β΄  = Α΄  και   

     Ρ (Α΄ ∪ Β΄) = Ρ (Α΄) = 1 - Ρ (Α) = 1 - 
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  ⇔  ∪
3P (A΄ Β΄) = 
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γ. Είναι  Α ∪ Χ = Β,  άρα   
    Χ = {1} = Χ1  ή  Χ = {1 , 2} = Χ2  ή  Χ = {1 , 3} = Χ3  ή  Χ = {1 , 2 , 3} = Β   
         Είναι  Χ1 ⊆ Χ2 ,  Χ1 ⊆ Χ3  και  Χ1 ⊆ Β,    

        άρα   minP(X) = P (X1) = P (1) = P (B - Α) = 
1
8  

     Επίσης  Χ1 ⊆ Β ,  Χ2 ⊆ Β  και  Χ3 ⊆ Β,    

        άρα   maxP(X) = P (B) = P (A) + P (B - Α) = 
1 1+  = 
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